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2 lfz(xﬂ) B
i WL 7

¥ x, BOH x, fx) iEH y(x), ?E{%dt ;—yz.

ﬁ»:ﬁ%fﬁ«%sd’ = du, B R

8 8
-y—=c—x, = —
FHVIME y(0) = 2=c = 4. FHRTE f(x) kL
ﬂx)=48
- X
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(I [ EKRBE] f(x,y) 7Y SR (x,y) B T7 0 FBEE S @S, Kby f(x,y) A
(x,y) AbBIBREETT A BB K AH | grad f(x,y) |, TR fx,y) 7E8 (x,y) &b 8T 1) T 500 55K B2

| grad f(x,y) | =/\/(§—{)2 + (ﬂ-f_f)2 =/(1 +y)2 + (1 +x)?2
ic

ady
K f(x,y) TEMZ C:(x,y) ¥+t vy -3 = Otﬂﬁﬁkﬁﬁ%ﬁﬁ%* | grad f(x,y) | =

VI +9)2+ (1 +2) ERM o(x,y) =0 FTHBAME,.ZMTRKeg(x,y) =1 +2)2 + (1 +y)* &%
 o(x,y) =0 FHHEKE.

HO B HE 3. &

F(x,y,A) = g(x,y) +2@(x,y) = (1 +2)% + (1 +y)* + A(x* + y* + xy - 3)

A



FZ—F=2(l+x)+A(2x+y)=0 @D

x

<3—F=2(1+y)+,\(2y+x)=0 @
y

Lg=x2+y2+xy—3=0 3

O,QOMAMHBEx =y A=-2. Hxr=y K@ Br=y=1la=y=-1,HA=-28x+y =1
RA@®Brx* -x-2=00x=2FHx=-1. FTEHBNU/IHAL
(1,1),(=-1,-1),(2, -1),(-1,2)

MR Vg(1,1) =8, /g(-1,-1) =0, /g(2,-1) =3, /g(-1,2) =3
SCPR A TE R KME, DFE AT S EE FE R f(x,y) BHZE C ERBRK AN SEES3.
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(18) [T 5Kk ]

u(x + Ax)v(x + Ax) —u(x)v(x)

(I)[u(x)v(x) ] SH o ;:E.lo A
Jm lim‘ [u(x + Ax) —u(x) Jo(x + Ax) +u(x)[v(x + Ax) —v(x) ]
,E-.:'_“']‘m Ax—0 Ax
KA IEN  w(x + Ax) - u(x) ..
WM s Ae e & )
. v(x + Ax) —v(x)

i Ax

u(xﬁ){;(x) w' (x)v(x) +u(x)v'(x)

Hp R RAEL, limo(x + Ax) = v(x) .

Ax—0

(0) REHMEA R R K A

uy (x)uy(x)-ou,(x) ]’

[31(1)(1‘;2(-’5)'”””(1‘))]'

w'y (x)uy(x)u,(x) +u (x)(uy(x)u,(x))’

w (x)uy(x)u,(x) +u(x)u's(x)uy(x)u,(x) +u,(x)uy(x)(uy(x)u,(x))’

=u' (x)uy(x)u,(x) +u;(x)u's(x)uy(x) u,(x) +u, (x)uy(x)u'3(x)u, (x) + -
+u(x)u,(x)u' (x).
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(1) [SirERE—] HEHLHSEITR: &

’ yz x = sint,

{z= 2—x2—y2 _ {x +-—2—=1 — [y=\/2-cost,’
= z=x=20

BE AN =0,XG BXMEt =w,te [0,7].

56 FH h £ 77 B T A AR Rk K 1R

I = J;(y-f-x)dx+ydx+ (2 - 22)dz = Lydx+ﬁxdx+ydy+ (2 - 2*)dz

1l

I

2 _ 1 5 1 5 1 5
H Lxdx+ydy+(2 Z)dZ—Ld(zx +2y +2z-—3z)
| " 2 13 (0,-42.0 0
— — - P —
[2(x +y°) + 2z 3z] 6 )

- i
fydx =J- J2cos’tdt = 2ﬂj’zcusztdt =2./2 - 2 = Lz_'n'
L 0 0 4 2
A It 2

| = —na7.

2
[ ERBT] RFaTH LT REBEEFREAXEE
. 8 -




I = L(y + x)dx + ydy + (2 - 2%)dz

LAEH BSIMBIR L :x =0,y =t(-2<t<J2),z=0(y8 I BF AMEZR)

J2
f (y + x)dx + ydy + (2 = 2)dz = [ ydy =f tdt = 0
L, L _\/2—

Fiiz=x EL5 L B ICH I, %6 FEN IAEEES T, I 0 RZ

(cosa,cosB,cosy) = 1—(1,0, - 1)
2

B Bt e i A 5K

cosa cosfB  cosy
. .. = 2 _ a9 9 9
I = J;.UL,(J +x)dx + ydy + (2 = z°)dz —Q 3 3 - dS
Yy + x ¥ 2 -z
1 0 -1
1 ) ? ) 1 So
= — —  — — |dS = —[||0+0 -(-=-1) |dS = —
Jz_ﬂ_- ax ay 0z \/‘Zﬂ.[ " ( )] J2
y+x y 2-2°
.1 J’z
So & SR . M LT o FHEAREMER]T T2 T N o P LOREER 0, = - /2n,
x =0
1 1
RSD':/—2_=UG,SO = 2oy = 2 5 2w =7
So iy J2
R 1=-2=T =%
2 2 2"
(20)[#&] (1) HEZIEWB,, B,, B; KEEX,BIr(B,, B2, B3) =3.
- 2. 0 |
BB, B2, B3) = (aj,ay,a3)| 0 2 0 ]
-2k 0 k +1
-2 0 I 4
EIE; 0 2 0 %ﬁﬁ“ﬁ%?4ilgﬁriﬁiéwr(ﬂ]1ﬁ21 B3) = r(al ,az,a:;) = 3,
-2k 0 k +1-
r 2 0 | -
(1) E% C=|10 2 0 %% a, ,, ,0, @Jﬂl ’ Bzy ﬂ3 H’Jﬂﬁﬁlﬁ,ﬁlﬂ
-2k 0 Kk +1-

fﬂr-tl'l y Xy Xy ﬁﬁl . ﬂg. 33 _Fﬁ’iléléﬁiﬂﬁ(r. ;12,13)T1ED C(xl ,xzuxg,)T T (x| ,xz,x3)T,
R (x,,%5,%) " BFRFBRHA(C -E)X = 0 IEFM#H .

=1 0 1

C-E=|0 1 0f,

-2k 0 k-

M(C-E)X =08FH < |C-E| =0.

KM |C-E| =-k, 8k =0.
-1 0 1-
e C -E =10 1 0,
-0 0 O-

BB(C-E)X =0 EMHN:c(1,0, -1, TEE a,,a,,a; FIB,, B,, B; FAIMEHKIEE & &
— AR c(a, —ay) ,c #0.
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(21)[#8)] (1) BN A,B AL, HLLtr(A) =w(B),3H|A| = |B] .75
{3 +a =2+5b,
2¢ -3 = b,
#1883 a =4,b =5.
- 0 2 =3 -1 =2 0
(m)a=(-1 3 -3|, B=|0 5 0],
=1 -2 4 - -0 3 1-
|AE-B| = (A -1)*(A-5),BHSFMEE N 1,1,5.A,B HHl,A BOFFAEE B R 1,1,5.
KABRETRFEME] HFFIERE.
=1 2 =37 rl1 =2 34
A-E=|-1 2 -3|—-|0 0 0]
=1 -2 34 L0 0 0

(A-E)X =0flx, —2x, +3x;, =0 @ RKEFDPEXLBEMEmE(2,1,0)" f(3,0, -1)".

KA BB THIEE S NFIER & .

- =35 2 - 37 ad! T O L
~5B=|<=1 ~2 =3|—=l® 1 1],
-1 -2 -14 Lo o0 o-
(A -SE)X =0 ﬁ]{xl +xy = 0 [Ef#,
Xy + x5 =0
KB —NEFERERE,L, -1)"
4 1 5 [
-2 3 1 - -1 0 0-
P=|1 0 1 [P 'AP =0 1 0].
-0 -1 -1- -0 0 5-
(22)[f&] IBEXRE X > 3 BHEE R p, NI
+ o + o . o . + % =_1—
p_P;X>3i_f3 f(x)dx-.L 27 In2dx = =27 | :
1 _p =L
g = 25
(1) YHIHEER T H N
|2 k=2 2 i k=177 \%2
PIY =kl = Cip’g"? = (k-1)p*(1 -p)'7? = = (?) k=2,3
- - __1___ 7 . k-2 _ 7" 1 .m kN n
(L) EY = Fk(k-1) - () Y k(k=1)g"? = (¥ ¢") 4(;0:;)
N W U . 2 . I
-64(ﬁ) 64(1_q)3_32 > = 3
""""""""""""""" N T Y
(23)( 1) EX = f-mxf(x)dx —Jax T it 2 il Pl
YEX =X
m1;9==f,9%ﬁﬂaﬁﬁbg=zf-1==_{ZA - 1.
() X FEEX OBERE x, v, ,x,, HEIR R A
L(8) = (1 _la)n,ﬁ-{..xi <1, InL(6) =-nIn(1 -0), dln(ll,g(ﬂ) = . r_le >0,0<sx, <1.
BT L(8) %9%$ﬁﬁ@ﬁ,ﬂ%6%%kfﬂ?ﬁﬁﬁfﬁﬁg = min{x, %, ,x, |, RAKUURMGITE
3 = min{ X, ,X;,-,X,|.
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